Algebra 1 - Chapter 1

Lesson 1
Name: Q’V\C\\A Yy Vﬂ )V

Solve the equcmon Check ycﬁ'r solution.
1.P+7=-9

2.0=k-2
-1 -7 T 19
“‘KP: -l &=%
3.-10=w+ 1 4(—; +(-3)=4
B 63 =4
\ =1 '-1j +3 3
5. -14= -9 + ¢ 65 (12)=
a{, C u,ﬁ ’!’
L., :;;%\ 8\ 38’
é’“"ﬁ 58 E {7
[
Solve the equation. Check your soluﬂon. B 3
7.-32 = f}’ 8. =5
L‘{ \ #_________1_,,_-:-————7
: —i) 3 i (:/**}U |
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GE_y -3 10, 5t = - 7.5
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P 3 5

=19 L
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Solve the equation. Check your solution.

13/k- 4= 2)T

17.a+8=9 - 3 -10
0xZ=a -
QY3 =17

-3 -%

e? » . -
Z L 1 :‘. " ‘.?Qw\’ Yy oS ...‘3“""“,... H
@ A A W
[ - - - A3 r ¢

= - L
2 5 b oL
14, -5d =18 7\

16. 4 + 12 + 2 = -bv
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Name: DTSRI 01}

Name:

Solve the equation. Check \V.Lur' solution.

3. 3k + 2k = 60
6K nel
<

\/i D |

et et

5.28 = 8b + 13b - 35

Solve the equation. Check your solution.
7.12-53r + 2) = 17
12 ~1S¢=10= 1]

93=4w-9+qa—m
RERY AR AV
327V - 59
39 :
35° g=
=5

\dj:\/

4. -43 =12 -6p + p

""% S -
N3P

8. 3(x - 2)+5(2 x) = 16

%x@LQ-HD 6)@—%@
“@x ‘i‘/\«k }
a ‘a i/_‘_',f_/

10. 6(q- 7) - 3(4 - q) = O

UGD 42-1343¢=0
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C\%_.:EB—
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Write and solve an equation to find the number. PRI A 4 L

11. Seven plus the quotient of a number and 5 is -12.

]+ E 7
,—'j

e A
12. The difference of three times a number and half the number is 60.

)
S, ng FA= = (0)
rox="92 Vg
,p-'—A< ‘3 5 A L*
ed
e D
13. Eight fimes the difference of a number and 3 is 40.

B (x-3)=4C

’2 =
2 ,2 gg::ﬁ

A™D= 2
T35 19

,-»""f ‘7
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Lesson 3
Name: M

Solve the equation. Check zo).lr solution.

1. Dr+7=3t-9

=D,

~5k J‘C;

b+ ]=
-7

5. 9(k - 2) = 3(k + 4)
AYUAB =21 +1D

L
314‘ '%X oy

2. -8u+3—2u-17
—&s - 20

6. -2(x - 4) = 7(x - 4)
-+ F= In -3
-7 % K
-y + 3= 93

e "‘""

(_'J

,"XV“"
-—.ﬁ“”ﬂ_" :2@

-(Q-‘

_za,:f?

8. 8(39+ 2) - 3g = 3(59 4)-2
\lp—% -13-3

4\\0 ‘%%—\q

,}Ug
LQ% -t e

by’
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Solve the equation, if possible. Determine whether the equqﬁ;)nf ﬁas:'bi‘:iefjsb_‘l&fjd‘n;' no
solution, or infinitely many solutions.

9.‘5(%1‘ + 3) = 2(5F - '3 10. 3 (12 - 24v) = —2(v - 2)
OL+\SG =Y - o= -avus
-{0% __~I0S J'«é:ﬂ 330 L
| 5E-9 U-,u=Y
-\ —\
-by=0
‘.'(a o -
=S
| one <ol /
11. 3(k + 1) + 11k = 2(4 + 5K) + 3 12. -4(-m + 2) + 2W = -%(10 - 12m) - 3
2K +2 1\ = QADK+D Um-g¥am= -S+loih-3
1A 42 = I 0D > L -3 = =3 +lM
~|D\ ~10¥ ‘ . - M
UK 4D= v‘{ : “’x ~Q= BV |
Y 2y | \nRadey |
q_ 4 ; iane
\ - “ e S —
one o 2
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Lesson 4__Daoni
Name: __ EOEL00r ()

1
Solve the equation. J
1. |p - 3' = 10
220 3=-19
?-\%5 B TP € T

=5 s

3. |6f| = -2

No 5ol

7. -4|5g - 12| = -12
—'-%/—J? =L
1{6%1\'&%)’— 3

- =
" 7F < |

=)
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11. A company manufactures penny nbimber 2 nails that are 1 inch in length. The actual
length is allowed 1o vary by up to 1/32 inch.

a. Write and solve an absolute value equation to find the minimum and maximum

acceptable nail length. X+ %‘a = —\ - %—Z
AT \ T
X+~353" 1 - 3z _
X432y =\ X=% “52 -3 _ L
3RS\ %Z.L A= 3z sz
32 36 x: - ‘T’?‘?

= Yo T2
b. A penny number 2 nail is 1'?(5?5 inches long. Is the il acceptable? Explain.

No, canndt b (rore. Hooyy 103

Solve the equation. Check your solutions.
12. |9w - 4] = |2w + 10|

13. 2|n + 7| = |4n + 8|
G-t =0 Ao-t=~{5LoN0)

Aoz Sln= -(Yn+3)
-0 W W U910 Inbd=unrd  Ansids -Mn-3
ﬁw;;ﬁ :\+ 9 A FILD M ‘ "%% A A %‘g
H -4 =-10 —INYW = {onatd = =
W tm;) *34 NG R bt
—_ ==t -9n =4 lon -2
\w—,& B-_—_. ’.\i;i- ' ”&Mﬁ
14, 3|3t « 1] = 2|6t + 3| o 15. [5r + 3| = 2p o
Hp) =gl d) 3= -all *»;73 Sa3=Q¢ 201390
LD R+ Aprz=7¥ 5 TG EAS)
QL T —\9L rk © 7 Ev 3z -3¢ 2= "I
~Fo A=, VX 9= T -3 3 1 =7
N '% ;3 a D— 5 3 —'? ‘(-A »\g.‘-ﬂ“"‘ ’
o= Ped N
,-’5 - &\- ‘ y e
S T -3/ X %5\
= - a2 No
16. [j-5l=[j+9 . 17. |2k + 4] = |2k + 3
G doatsl 'JJG - =(349) AL SIS = -3 ‘4"*;?\
R 7 gs - —aw SR T Qpay = QK-
S, _~Y] E X ] 1o\ xR
L;i} : Q:f)ﬁ 4 U{.\“q:f"}
D587 4S | -
é:)' B3 ,,.L% %z-“l
&) 7= v
g o x_,{ ,,,,,,,,,,, ,
— TJ_E_=_- o e e
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Lesson 5 .

Name: P\i ouWwex \OUJ

Solve the literal equation fg’r Y.

1.3y-9x% 24 2.10-2y = 46

Q% = 49X o -l
3y=9x+ad e 3
5 3 | A

(j;?ﬁ‘v\'% ﬂ:"‘%

3.3x+5=9-4y 4. 5x+7y 8x +7
3 -9 Fﬂl-[ 1Sy +SY
K- = = 13x 1
— | —L«} q ‘% 1 ,_,::L’“\\
T2y ¢ =V KRV
x| REREAN
1
5.3 +>y=2x+4 610-——y 4 + 6x
=2 5 - 2
- S D "D )
e P AW AN g T ! \”
=3 \ 5_;; Y E}_‘Q At E‘\) ;‘% - é\;" ;‘ﬁ_}ﬁ——& WK
T0=\0S VO S o
L@w | 4- 13— ¥
Solve the literal equation for x.
7. 6 = 4x + bxy 8. W = 4ax - 9x
G = 7 (4 +54) W= ) (YaA)
LSy 445G 4o Ha-d

— iy

= T
Bt F=kd

Y= )
9. z-6x+px+2 _@;afﬁ’/ 101 = 10 + 7x - gx
2-32 (% + PX U"{'P
L“& XUD‘{'QH

LD"*() Lt
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11. ax - bx = Kk 12. P = qx+r'x+s’f'
X(a-) =L 5

—aon A p-9= ?A?W
\/
\X=ah \ 30~6~ ,(M@

K

A

H CS A
R

13. 11 - 4x - 3jx =

XL‘Qci):gQ»ﬁl
T-Y-3y 4y AT OWI=
\%X@ ['\@“J % !-—{‘%‘l;\) B+3(A)

k= av+ bx @ ‘J(\l%ledg /&D‘&— YN .Q{SJ-}-
k = x( b+ d ON

‘ i ¥ kd=x( mb) @ X
T s a El + 4 < T\O CA@H‘O

Solve the equation for the indicated variable.
16. Simple interest: I_= pri. Solve-for r.

Eciacs =

17. Volume of a box:-V—=-Iwh; Solve for w.

\/—' [ W VA
"\ M

18. Herons-formula:,2S = a +b+ c Solve for b.

(8-t

19. Coulomb's Law: F fc%% Solve for kg _E@in \ ?
£z HGJ—%—> T & \"(%%a\ =K \ %‘ P A




Algebra 1 — Chapter 2.

Lesson 1
Name:
Write the sentence as an mequality.

1. A number x plus 10 is more than 2.

X+10>

2. Twelve is no less than the sum of a number n and 3.

RIS

3. One-half of a number p is at least 100.

_L.P>\DQ

4, Six is gr'eafe.r' than or equal to the quotient of a number y and 2.5.

=25

Tell whether the value is a solution of the inequality.

5. —5<——z-2

_ 6 [ 3.
éYeg

7.212 -4 +3;t=-6
A2 -4(Y+>
Al 2 U+
a\zal

o

9. 12<-;—§+12g=—2

610>1r-5

L}_\
5
a2\

s

8. 9+(3)>-Za=3
~q-3(-3)>-
~q=-9>- 9

| > -9

Ves

10. —+3< 2 n=4
LiQﬁ-Q

L-+3L&
3+3'—9
(oLD

No
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Graph the inequality.
n -22%

Write an inequality that represents the graph.

17. ———
-7 -6 -5 -4-3-2-1 0 1




4- Chapter 2

/2
o/lve the inequality. Graph ﬂ@solu‘hon.
1. W+6¢2 2.M-356
SED Y I Do >
L
wi%ﬁ 'Q M-3>6
(oL~ +3 43
My
3.4<4+¢ 4.7<x+15
A Sl - - @y
O -3
Gy S L x+ig
4 -4 -;g -1
DL%%&D ‘“XLX%X‘B
5p-(-3)>10 6. Q+6-554
B ~t— -t
= 3
PA3 10 Q-5
-3 -3 Q—}\\ >_‘~{
PO B
Q>
7.3-11+%>-2 8.4<6a-4a-2
ot -S>
v 3
3- \\+’c> S Y £ a-la-9
S sk Lt
— =
2 ata 5023
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Write the sentence as an inequality. Then solve the inequality. * W it
9. A number plus 10 is less than 34.

X+ 10434

10. A number minus 8 is at least 14.

-3 =\4

11. The sum of a number and 7 is less than 15.

X +7L\S

12 Nine is less than or equal to the difference of a number and 1.

QLK

13. You order a new pair of running shoes froma website that offers free shipping on order of
$75 or more. Your shoes cost $69.95.
a. Write and solve an inequality that represents how much more you must spend to get
free shipping.

(Q?Qb+x>75'

b. The cost of shipping your shoes is $7.79. Would you purchase another item in order
to get free shipping? Explam

9,95 +11%4° ‘76 -@%5: 5?9 05
7j| ‘—TL’H" (EGY\ (){ (.
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Lesson 3
Name: _Qmw kﬂ A

Solve the inequality. Graph Th{Polu‘rion.
1.56 < 8b
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Lesson 2 e . .
n_7<-L 12 sy B Y e
3 5

P
&\

5's
e Lef-

S 31 (-8\18 > 2o (B)
N2 L5 (= SLO\ﬁCmaf;

13. You have $850 to buy new carpet for the game room. The dimensions of the game room are
20 feet by 12 feet. Write and solve an inequality that represents the costs per square foot
that you can pay for the new carpet. Specify the units of measure.

( Q qu ég

o) S z
° o 339551{ pec 6%%57
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Name:

Match the inequality with its
1.5(4-y)< 25

a0- 88 LIS
30

=Xt o g>%l
2.-9k+5>5 14 =
~CiK+“>H

\oﬂ

3.2(x-7)<-8

a_x Lla
o O
Solve the inequality.

4.6<-5t-4
n.in I o
oL-Skt

-g‘ '§

XL

8.4 <-2(y +3)
L—ag—
Al X

raph.

@
A

C. ~=

i ¥ gy T |
| I b I
5 -4 -3 -2 -1 90

i I l z A |

i t B I
-5 -4 -3 -2 -1 ¢

9.24 3 6(w-2)

2 bu-\a
1\ -\

3102(2_9_0
‘P D

L2 L:) )

-
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Solve the inequality.

10.-5n-4>7n+ 20
MY

-5n >‘m+a‘—{
-1 10

e as
-\;\ =

12.10h-3h+6 211+ 7h

T2 M4
-1\ el B2

G210 )
No Sol

14. 12(x - 2) > 3(4x - 8)

\ax -4 > \a\L -

—\ax /L
kD>

\ o JJ

4

11. 4k-6<3k+k-1

13. 6(1 - 1) < 2(d + 12)

~L0L-5)c%+a‘-\

-a - C
4

L\d)‘(@ + o
J4g £ 20 -
4 ]
déﬁq "?;*\j“ >

15, 6(—d + 4| > 2(d + 12)

B

s |

/
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Lesson 5
Name: _&m,;ﬂf Y_Q!J
Write a compound inequality ﬂm‘ is represented by the graph.
L s
-3 -2

-1 L4 1 2 3 4 5 6 7

—aL AL

2, Ottt
-3 -2 - o 1 2 3 4 5 6 7
Xe—\ ot x>Y

3. OO

Write the sentence as an inequality. Graph the inequality.
4. A number d is less than or equal to 2 and greater than or equal to -2.

- -adLkdta

5. A number m is no less than -1 or less than or equal to -16/3.

L -Yo
m= -l o mkE =
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Solve the inequality. Graph the inequality.

. A
' e [ et i
SRS o
b ! 1)

7.-4<2p+8+<18

ey
AENEYAT:
-4 L p+BLIe
;! TS -2

>

WQLPLS‘

-1aLet O
—"é' -

9.15<-v-8 or 3v+4:10

-3 d-
IS 3‘i>-‘f
L- 2k
aty 378
-3 >V v =24
VL‘Q%
10. -6 < 2(by + 12) < 14 11. 42 < 6(3 - k) or 3(14k-8):10
e
- 3 o °
L &y Q) U‘j 4aL L(3XK) = k- 20
_ L\ - 7% -H2 10
_l@La“’\t\@ -lo :'\\%L_\%g;{g\% 4+ Y
Z\L,
> -~
Y
uLul B ~4y>V
B 3 ¥i-4
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Lesson 6
Name: !
Solve the inequality. Graph the $blution, if possible. +7 +7

1.12x-9] <-8 2. |15x-1]-7322

3. ly-2]+1150
3
- S WARY
y a \\ y*g A
\/>—°\ VL3
=FLy 13
5. 22]3d - 5] < 10 6.312a+81 ‘115
@R S+
@ T tors N
\3d-s|2-5, ;o )
331’57' 3A’5’< L L
S XS S ¥ o ’?/aaﬁ 3
L (¢ —
3420 s —lot otk
Ao delo Zstat-3
iz -4 -4
7-'2|1'3h|t9l<;l‘2 8.5|-p+2|+454

hé.l-\ Sh\L“a;‘ 5;L,Q+&l>%
\3 A -2 - +8>O
-3 58 -3 ﬁ . \\—eml--% 21 P—-a -%
- - -2% - -
t—a\qs‘fﬁ"s '3:-\':' % 3 '—;PT>:T
- L
EhL'\a\ h>@3 P o
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Write the sentence as an absolute value inequality. Then solve Tfaé mequﬁhfy} Y }'
9. A number is more than 12 units from O. :

\x-0} >1Q
X>\2a Y L-\A

10. One-third of a number is at least 5 units from 31.

x-3|=5 -
Ly~ x—31E-5
37333 3743) 43
30 3X>3Lp,3 3-Fx a3
x> |0% X£T73
11. Twice a number is no more than 7 units from 13.
lx-13) 47
9L Qx-V3E
At ai‘% % ‘;\—!3
b=axkal
5- 2]
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Lesson 1, Day 1

Name: P‘(\‘i N8 YM l/-\ Date

Determine whether the relation |s a function. Explain.
1. (1, -2), (2, 1), (3. 6), (4, 13), (5. 22) 2. Input. v Owtput. .

Funchon, T N aSunchi?

No cepeatng X OHE: 2 (e (NS
*\m,@:} “’“*Qg: !,_ Y.
3. Input. v Output, 4. iggm;}; » ;{ g | 'i '"i"‘f:”t
T Fundeo [owows] 21 o i T3]
% 110 (e ot o Sk
| gh!'«*’%: I o &\ (epaok
oo

Determine whether the graph represents a function. Explain.

> HTTITI ! FunchoN 6. . - {,\No\wcm

el 4 i 1 F4vevhead Ling 5 _' ; = du}gsnﬁmgﬂ
L es SR et L,
= ek

o

4 S A N S ¢ et

st cifnc e X “ - ntseccnciy B s . R SO SO
“ # e b d T T 3 ;
W‘-‘—wz& é wo&m&mm«é«w

R S S ] I S e

O n ot o Swnahve - T T T Fanchon
641 ww«~—«~~e§L»£‘:f\® Pees pusxeS
. T-i:g e UL—‘—' » I j’:‘ \N1#a Y
T NS
TR 1117 *
oll_ | EENRERSNE

s
R
ol
&
s}
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Lesson 1, Day 2

Find the domain and range of the function represented by the graph.

1. Y 2. AY
2 D-‘ /Q‘D' J &
N J - -0 z
2 2 |x
2 -2 2 | Ax
y Y | l
3. 4. -
: Y 01' _'L“:xé.a ¥ 0- aL)( L7
", ; ?— & _,.-L'-‘ i l LY LL
‘T R QY- S |
1.7 v
z "
T4 -2 | ¥ | 3x o |

A

7. The function y = 25x + 500 represents your monthly rent y (in dollars) when you pay x
days late.

a. Identify the independent and dependenf variables.
yydagndant x> Indgundant

b. The domain is 0, 1, 2, 3, 4, and 5. What is the range?

- 900,595, 50, 575, oo, La s
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Lesson 1, Day 2

8. The function 1.5x + 0.5y = 12 represents the number of hardcover books-x-and

softcover books y you can buy at a used book sale. },‘ j’ 8% -I"&\-{

a. Solve the equation for y. \\SX \‘O‘S? =\3 ~\\Sx l

*_____.5_\}--\57&4-,&_ J

=)
b. Make an input- -output table to fmd the or'cPr"ed pgl)r?for the function

A _,,___.L “1j1Q ]} :
Y130 (a7l 917‘%

c. Plot the ordered pairs in a coordinate plane

0y

il

T[T
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Lesson 2, Day 1

~—lame: Date

Determine whether the graph represents a /inear or nonlinear function. Explain.

1. Ay | 2. ryad
2 , - g 4 ¢
Ponhneay . 0{1{\@1
2 2 1% =2 2 [x
=2
i ;
3 y 4. 6" f _
INHronhinor [ nonhinga
-2 2
2
-3+ :
= l Y1 2 4] 6x
Determine whether the ‘Table L?pr'esen'rs a /inear or nonlinear funggon. Ex)%l}ain. 4.’3
5 ~ Y ‘ L)
x| I 2 3 4 x| 5 7 9 il
s (10152 y| 9| -3|-1| 3
\._/ A A A
5 ‘F‘?/ 5 o nonlingoY”

Describe and correct the error in determining whether the table or graph represents a

linear function.

Ix{ 24|68 {
y[ 4 [ 1668 |256] \\(\991 N I
— 5 Fs ND{\ | 1

SHHH

mmmm&.mm
,Wn.mm

L
[
-
A2
%’%
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Determine whether the equation represents a /inear or nonlinear function. Explain. R
9. Y =x%+13 . 10. Y =7-3x
NOONNGCLC Lingar
Counnat YOwe. \= M40 B
o
X
11. y= V8- x 12.Y=4x(8—x)9
Sty Y= Bax-x
- ) AN e
13. 2+ 4y = 3x + 4 14. Y - x = 2x - '

@‘\r‘l {D.X 1 }>
¥ = loxH]

&%c\(&(

15 18x - 2y = 26
-3x 13y

QY= -1kl
2 o "9

\%JH-\
Linoou

D)
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Lesson 2, Day m
Name: ﬂ(l (\w Date
\l 3

Find the domain of the function represented by the graph. Determine whether the domain
is discrete or continuous.

1. fu £ ? e aggini i N - 2. !« 45}-« s i ¢ . L x [:. “,
by o ‘ . 2y 4D Ot
AT A AT D
hal . JEND W T I . by ! WA
ST T Deecrete. wEENR (orbnuaus
ley N A O U N B 0 ”%7“’-"'”-*-‘*#

0 I I O O et
fel g s dondodo 10
g.w« w; .,,%.*,6. ;.,, jww?,r.w i oo e 4‘%- i".é.m.!w
ENERENENE (Y12 12]%] 84
Determine whether the domain is discrete or continuous. .
Input 4 P ( : input i s 1
Bags, x - to | Years, x -
Gmm % Giﬁ;}iﬁ ¥ i3 13
; ' ek 4 f«1 " Maiaht of £48 .
Marbles,y - ! | Height of tree (feet), y
Diexede. Conbnuans
5. 6. =
Input 3l 6| o Input n | s
Time (hours), x | Relay teams, x -
Output R (I ,
SN o 15600 300 3% Qutput ,
Distance {miles), - ; 4 p
B Athletes, y
Conhou oas Disuete
Describe and correct the error in the statement about the domain.
7. 4 8
x QL?‘M’ [T 1] X ;84 ¥ ; “'“?D‘ vexelp
TRV B i e e ot
b'\\a\%nqns l‘ - | 'g 11 ;
-t o BB o e o SR
e o B ! U % M.r‘," l .
14 S A ENENNEE
-4 : b ] NOSEEEE 17
11} | i 1 & 1 3 i é}'j i i‘rf m"?‘;. g.j;.wwg u%ﬁx

A = %g&gﬁhmﬁﬁxwﬁc
2 5 is.1n the domain : s0 the domainis dissrete.
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Lesson 3
wme IR L0105

Find the value of x so tha@ the function has the given value.

9. h(x) = -7x; h(x) = 63 10. 1(x) = 3x; #(x) = 24
2=-Ix V=3
= 7 R
-q: A ?:x
11. k(x) = 6x - 12; k(x) = 18 12. j(x) = ——x +7;j(x) = =5 %
= loy - _ = - S
_\\\g lox*\\ Ls - X-r-n = - SZS “]X+
0=lox. =My
e u+
57X \b =X
Graph the linear function.
13. p(x) = 4x 14. f(x) = -4 + 7x 7‘
F Y 43 J

“
4

e g

ah ™

Ay

Er %3

ag ™







